Using Pressuremeters






The Self Boring Pressuremeter
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What can you get out of them?
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Air injected Drive In
underpressure. pressuremeter
Connection (DIPM)

to cone rods

Expanding section comprising reinforced
membrane overlain by Chinese lantern

Displacement measuring
system

Hall effect transducer

Conical tip




Pressure (kPa)

DIPM TEST CURVE EXAMPLE
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ﬁ Reloading data from 3 loops

6
Reloading paths plotted on log scales
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Loop 1: Gradient is 0.62 and intercept is 5.497MPa *dm -
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Secant shear modulus (MPe

10 tests In 1 borehole — the measured variation of G

Secant shear modulus versus shear strain, all tests
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Normalised secant shear modulus (Gs/Pc

10 tests In 1 borehole — normalised variation of G

Normalised secant shear modulus versus shear strain, all tests
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The limits of pressuremeter stiffness measurement

Gmax - below the resolution of the SBP Test

A Gault Clay
pressuremeter 4.9 MBGL

remeter stiffness:strain result

e

\ Gmin - above the resolution
of the pressuremeter
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An example of lift-off (1)

Lift-Off : Average of all arms

- = = Lift off
® Measured data

~

(LIFT OFF
LPo (Arm ave): 572kPa

o
o
o

<
o
4
=
(]
-
=]
(7))
n
(]
-
o
<
o
|_

S19T8
18.20 Metres
L23 May 07

Displacement (mm)




An example of lift-off (2)

Lift-Off Stress, all arms

LIFT OFF (kPa)
Po (Arm ave): 572kPa
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Digital & arm weak rock self boring pressuremeter
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SBP test - Shepherds Bush, 2 of 2

Curve comparizon (whittle 13937 Arm ave

A|CURWE FIT PARAMETERS:
Origin : 0.059rmm

1[Fo: 372.0kPa

A Cu 1807 kPa

Beta : 0622

1| Alpha : 3.311 MPa
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Curve fitting example -
non-linear elastic/perfectly plastic solution

Digital B arm weak rock self baring pressuremeter
B4T2

1426 Metres

Cavity strain (9]




Further information? Stand 21



